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Chapter 11
Reporting and Interpreting Owners Equity
Instructor Notes

In Chapter 11, we discuss transactions that affect owners’ equity.

TRANSACTIONS WITH OWNERS

No gains/losses on income statement for direct transactions with owners. 

Issue stock

· Proceeds allocated to common stock at par and paid-in-capital in excess of par

Repurchase and retire stock

· Economic gain/loss:  compare repurchase price to original issue price

· No income statement effect

Treasury Stock.  Repurchase stock temporarily, with intent to reissue.  

· Economic gain/loss:  compare reissue price to repurchase price.

· No income statement effect

Dividends

· Charged to retained earnings

· Not and expense

· Types

· Cash dividends (most common)

· Stock dividends

· Retained earnings decreases, PIC increases

Stock splits

· No effect on stockholders’ equity components

· Par value and number of shares adjust

TRANSACTON WITH EMPLOYEES

Stock compensation

· Calculated on date of grant

· Allocated over benefit period
· This an exception to the normal transactions with owners (no income statement effect), and it results in an expense being recorded
To find out about a company’s owners’ equity, look at the stockholders’ equity section of the balance sheet (see text p. 546 for an example).  Most companies present a statement of stockholders’ equity (see pp. B-14 and C-5).  In a recent issue of Accounting Trends & Techniques, of the 600 companies surveyed, 578 presented a separate statement of stockholders’ equity.  The statement of stockholders’ equity reconciles each of the stockholders’ equity accounts (i.e. common stock, preferred stock, additional paid in capital, retained earning, accumulated comprehensive income, treasury stock).  

Companies are typically authorized by the states in which they are incorporated to offer many more shares than are issued.  For example, look at reference (1) at the bottom of p. C-3 for Urban Outfitters, Inc.  On January 31, 2012, Urban Outfitters was authorized to issue 200 million shares of $0.0001 par value common stock, but had issued 144.6 million shares (rounded).  Thus, Urban Outfitters had 200 million – 144.6 million = 55.4 million shares authorized, but unissued.  Of the 144.6 million issued shares, all were outstanding (no treasury stock).  Also, Urban Outfitters had 10,000,000 shares of $0.0001 par value preferred shares authorized, with no shares issued and outstanding.  

Also, look at text B-11 for American Eagle Outfitters, Inc (AE).  At January 28, 2012, AE had 600,000,000 shares of $0.01 common stock authorized, with 249,566,000 issued and 193,848,000 outstanding.  Normally, the difference between the number of shares issued and outstanding is the number of shares of treasury stock.  Shares issues of 249,566,000 – shares outstanding of 193,848,000 = 55,718,000 in treasury stock.  AE is also authorized to issue 5 million shares of $0.01 par value preferred stock, but has issued none.
Transactions affecting stock are usually classified as financing activities in the Statement of Cash Flows (exceptions are stock dividend and stock split).  

Stockholders’ Equity Format

Although several variations are used in financial statements, it is helpful to conceptualize stockholder’s equity as having three broad sections:  contributed capital, retained earnings, accumulated other comprehensive income.

CONTRIBUTED CAPITAL

· Common stock

· Preferred stock

· Additional contributed capital accounts

RETAINED EARNINGS

ACCUMULATED OTHER COMPREHENSEIVE INCOME


In the Investments chapter, we cover one transaction that affects accumulated other comprehensive income, unrealized gains/losses on available for sale securities.  

See p. 546 for an illustration of the Kroger Co. Shareowners’ Equity section; also see the stockholders’ equity sections for American Eagles and Urban Outfitters financial statements in textbook appendices.

Shown below is an example of the balance sheet stockholders’ equity section.  
	STOCKHOLDERS' EQUITY EXAMPLE

(In Thousands)

	CONTRIBUTED CAPITAL

Common Stock, $10 par,  25,000 shares authorized 10,000 shares
      issued and 7,000 shares outstanding
	$100,000
	

	Preferred Stock, $100 par, 7% cumulative and nonparticipating - 5,000 shares

      authorized, 2,000 shares issued and outstanding
	200,000
	

	Common stock dividend distributable  - 1,900 shares
	  19,000
	$319,000 

	Other Contributed Capital
	
	155,000

	     Total Contributed Capital
	
	474,000 

	RETAINED EARNINGS
	
	305,000

	ACCUMULATED OTHER COMPREHENSIVE INCOME (LOSS)
	
	     6,000

	
	
	785,000 

	Treasury stock, at cost (1)
	
	 (67,000)

	     Total Stockholders’ Equity
	
	$718,000 


(1) Treasury stock is part of Contributed Capital, but traditionally it is shown at the bottom of the stockholders’ equity section.  

STOCKHOLDERS’ EQUITY TRANSACTIONS

Stock Issuance 
The general rule is to record stock issued at the fair value of the consideration received.  Most transactions are for cash; so, the fair value is not difficult to determine.

Most stock has a par value (although some shares have a stated value and others are no par).  By historical convention and precedent (and as required by state law in many states), the total value of the stock sold is recorded in two accounts and allocated between the par value of the shares and additional paid-in capital.  
Common Stock, Cash Transaction.  For example, assume that the Heron Co. issued 1,000,000 shares of $1 par value common stock for $32.50 per share.  The following entry documents the transaction:

	Cash
	32,500,000
	

	     Common stock (1)
	
	1,000,000

	     Additional paid-in capital in excess of par (2) (3)
	
	31,500,000


(1) 1,000,000 shares X $1 par value = $1,000,000
(2) 1,000,000 shares X ($32.50 sales price - $1 par value) = $31,500,000

(3) Alternatively, Paid in capital in excess of par, contributed capital in excess of par, or additional contributed capital in excess of par.
	Transaction Analysis Review 

· Cash went up, and it is an asset:  debit cash.
· Contributed capital went up by $32,500,000, and the amount is allocated between 2 accounts.

· Common stock is a stockholders’ equity account, and it went up:  credit common stock (at the amount of par value x numbers of shares issued).

· Additional paid-in-capital in excess of par is a stockholders’ equity account, and it went up:  credit additional paid-in-capital in excess of par (for the excess of the issue price over par value x number of shares issued).


Thus, a reader must combine the amounts shown in the balance sheet for common (and preferred) stock and additional paid-in capital to determine the amount received from issuing stock.
Common Stock, Noncash Transaction (Not Discussed in Text). Sometimes stock is issued in a noncash transaction.  For example, assume that the Jackson Corp issued 75,000 shares of $5 par common stock in exchange for an office building and land in Orlando, Florida.  The stock had a quoted market value of $60 on the date of the transaction.  An appraiser indicated that the land was worth about 20% of the total value of the land and building.  The following journal entry would record the transaction.  Note:  the total value attached to the transaction = 75,000 shares x $60 = $4,500,000.
	Office Building (4) (5)
	900,000
	

	Land (3) (5)
	3,600,000
	

	     Common stock (1)
	
	375,000

	     Additional paid-in capital in excess of par (2)
	
	4,125,000


(1) 75,000 shares X $5 par value = $375,000

(2) 75,000 shares X ($60 sales price - $5 par value) = $4,125,000

(3) (75,000 x $60) x 20% = 900,000

(4) (75,000 x $60) x 80% = 3,600,000.  

(5)  Alternative account title is Property, Plant, and Equipment.
	Transaction Analysis Review 

· An office building was acquired, which is an asset:  debit office building.

· Land was acquired, which is an asset:  debit land

· Contributed capital went up by $4,500,000, and the amount is allocated between 2 accounts.

· Common stock is a stockholders’ equity account, and it went up:  credit common stock (at the amount of par value x numbers of shares issued).

· Additional paid-in-capital in excess of par is a stockholders’ equity account, and it went up:  credit additional paid-in-capital in excess of par (for the excess of the issue price over par value x number of shares issued).


Preferred Stock.  
Some companies also have preferred stock.  For example, assume that the Myles Co. issued 1,000,000 shares of 0.02 par value preferred stock for $8.00 per share.  The following entry documents the transaction:

	Cash (1)
	8,000,000
	

	     Preferred stock (2)
	
	20,000

	     Additional paid-in capital in excess of par (3)
	
	7,980,000


(1) 1,000,000 x $8 = $8,000,000

(2) 1,000,000 shares X $0.02 par value = $20,000

(3) 1,000,000 shares X ($8.00 sales price - $0.02 par value) = $7,980,000

Account titles could also be additional paid in capital in excess of par – preferred; paid in capital in excess of par; or contributed capital in excess of par.

Stock Options Issued As Employee Compensation 
Many companies offer stock options to key executives.  Executive stock options are viewed as transactions with employees.  The fair value of the stock options on the date of grant is estimated, and that amount is recorded as compensation expense over the life of the options.  The text does not discuss in detail this transaction.  However, because it is common place in many corporations, an example is included in the notes.  Assume on January 1, 2014 a company awarded 10 million stock options for 10 million shares of $20 par value stock to executives at a strike (option) price of $40 per share when the January 1, 2014 market price was $40 share.  (Issuing the option “at the money,” setting the option price equal to the market price on the grant date is the usual practice.)  Further, assume that management used an appropriate option pricing model and determined that the value of each option was $1.00 per option.  Further, assume that the executives could not exercise the options for four years, and management believed the benefit period for the company would be four years (2014-2017).  The total value of the options on the grant date is computed as 10 million options x $1 = $10,000,000, which is allocated over the four year period.
GAAP accounting requires that on January 1, 2014 not journal entry is recorded (the executives have not yet performed future services); however, the total expense is computed as of that date.  

January 1, 2014.  No Journal Entry is made at this time.  

Before turning the page to look at the answer, prepare the annual, December 31, 2014 adjusting journal entry related to the stock option:

December 31, 2014
	
	
	

	
	
	


The December 31, 2014 annual adjusting journal entry to record the option is as follows:

	Compensation expense (1) 
	2,500,000
	

	     Paid-in-capital:  stock options outstanding 
	
	2,500,000


(1)  Total compensation expense = 10,000,000 options x $1 = $10,000,000

$10,000,000 ÷ 4 = $2,500,000

	Transaction Analysis Review 

· One-quarter of the compensation expense has been incurred, and compensation expense is an expense account:  debit compensation expense.
· Paid-in capital has increased:  credit paid-in-capital—stock options outstanding.  


Note that because the obligation of the firm is to provide stock and not to pay cash, the amount is recorded as paid-in-capital.

The same journal entry would be recorded each year on December 31, 2015, 2016, and 2017.  

	NOTE:  THIS EXAMPLE IS NOT ILLUSTRATED IN THE TEXT.  THE ISSUANCE OF STOCK OPTIONS IS CONSIDERED BEYOND THE SCOPE OF THE TEXTBOOK.  HOWEVER, THE ACCOUNTING FOR STOCK OPTIONS HAS BEEN EXTREMELY CONTROVERSIAL, AND YOU SHOULD NOTE THE BASIC ACCOUNTING OF HOW STOCK OPTION EXPENSE IS COMPUTED AND RECOGNIZED.  


Repurchase Stock 
A company might repurchase stock (
· to retire it (a stock buyback)

· to repurchase it temporarily with the intent to reissue it (treasury stock)
Assume that the Johnson Co. had 2,000,000 shares of $10 par common stock issued and outstanding.  Further, assume that Johnson’s paid-in capital in excess of par was $39,000,000.  Therefore, on average, Johnson had received $29.50 for each share of stock issued.

	Par Value:  2,000,000 x $10 
	$20,000,000

	Additional paid-in capital in excess of par
	$39,000,000

	Total received for stock
	$59,000,000

	Divided by number of shares 
	÷ 2,000,000

	Average price per share at issuance
	$29.50


Use this information in the next two example problems.

Repurchase and Retire Common Stock (Stock Buyback)
Although this transaction is not emphasized in the text, a student should be familiar with it.  Assume that Johnson repurchased 300,000 shares at $28 per share and retired them.  To account for this transaction:
· Write off the average value received from the issuance of the stock

· Common stock at par value 

· Additional paid-in capital in excess of par

· Record the cash paid
· Any economic gain/loss is recorded as additional paid-in capital from stock retirement. (The exact accounts used depend upon state law, but we use this general rule.)
· A company may not record a gain/loss on the income statement on this type of transaction with stockholders.

The entry to record the transaction is:

	Common stock (1)
	3,000,000
	

	Additional paid-in capital in excess of par (2)
	5,850,000
	

	     Cash (3) 
	
	8,400,000

	     Additional paid-in capital from stock retirements (4)
	
	450,000


(1) 300,000 shares x $10 par = $3,000,000
(2) 300,000 shares x ($29.50-$10) = $5,850,000, see previous $29.50 computation.
(3) 300,000 x $28 repurchase price 

(4) 300,000 x ($29.50 average previous issue price - $28 repurchase price).  Note that the account title is additional paid-in capital from stock retirements, not in excess of par.  
	Transaction Analysis Review 

· Common stock is a stockholders’ equity account, and it went down:  debit common stock (at the amount of par value x numbers of shares issued).

· Additional paid-in-capital in excess of par is a stockholders’ equity account, and it went down:  debit additional paid-in-capital in excess of par (for the excess of the issue price over par value x number of shares issued).

· Cash was paid, which is an asset:  credit cash.

· An economic gain occurred (repurchased at $28.00, originally issued at $29.50).  This economic gain MAY NOT be reported on the income statement, but is recognized as a change in stockholders’ equity, which increased:  credit Additional paid-in capital from stock retirements. 


If this transaction had been an economic loss, the accounting would be more complicated because the answer on how to record an economic loss would depend upon state law.  However, for our problems, we could just debit additional paid-in-capital from stock retirements.
Stock Repurchased as Treasury Stock 
If a company repurchases its own stock with the intent of reissuing it, then the stock is classified as treasury stock.  Continuing with the previous Johnson example problems, assume that Johnson repurchased 300,000 shares at $28 per share to hold them temporarily, with the intent of reissuing the stock.  The entry to record the purchase is:

	Treasury Stock (1)
	8,400,000
	

	     Cash (2)
	
	8,400,000


(1)  Treasury stock is a contra equity account.  It may not be shown as an asset.
(2)  300,000 x $28 = $8,400,000
	Transaction Analysis Review 
· Treasury stock is a contra equity account, and it increased:  debit treasury stock.  
· Cash is an asset, and it decreased:  credit cash.    


Treasury stock is a temporary contra equity account that exists until the treasury stock is reissued.  

If the treasury stock were resold for $30 a share, the economic gain would be recorded as additional paid-in capital.
	Cash (1)
	9,000,000
	

	     Treasury stock (2)
	
	8,400,000

	     Additional paid-in capital from treasury stock (3) (4)
	
	600,000


(1) 300,000 shares x $30 = $9,000,000

(2) 300,000 shares x $28 repurchase price (i.e., its cost)
(3) 300,000 shares x ($30-$28) = $600,000

(4)  The text (p. 552 and 563) uses the account capital in excess of par.  The authors do this to simplify the presentation.  However, in most states, this is not the correct account title, and a different account title would be used to record the economic gain.  Alternative titles could be paid in capital from treasure stock transactions; contributed capital from treasury stock transactions; additional contributed capital from treasury stock transactions.  

	Transaction Analysis Review 

· Cash is an asset, and it increased:  debit cash.    
· Treasury stock is a contra equity account, and it decreased:  credit treasury stock (at its original cost).  
· Additional paid-in capital from treasury stock is a stockholders’ equity account, and it increases:  credit additional paid-in capital from treasury stock transactions.


Note:  no gain or loss on the income statement can be shown from treasury stock transactions with owners.  
If the treasury stock had been sold at a price lower than $28, the economic loss would be shown as a reduction in additional paid-in capital from treasury stock transactions.  (In actuality, the state law in which the company is incorporated dictates how the economic loss would be recorded.)
Note: almost all treasury stock is common stock, although a company could repurchase its preferred stock as treasury stock.  A recent edition of Accounting Trends & Techniques shows that for the 600 companies surveyed, three reported preferred stock treasury stock.   

Preferred Stock)
Preferred stock is equity, but it has some debt-like characteristics.  

· Normally, preferred stock foregoes voting privileges.  Make this assumption unless you are provided evidence to the contrary.
· In return, preferred stockholders have:

· superior rights to common stockholders in liquidation (but inferior rights to creditors), 

· a current annual dividend preference (usually expressed as a percentage of par value)

· a dividend preference that normally is cumulative, which means that if a dividend is not declared in the current period, the dividend becomes in arrears and it must be declared in subsequent periods if any dividends are declared.  Dividends in arrears are disclosed in notes to the financial statements.  
· Unless told otherwise, assume that common stock is cumulative.  

· Technically, a dividend in arrears is an obligation of the company but not a liability of the corporation; therefore, dividends in arrears are disclosed in footnotes but not recognized as a liability in balance sheets.  

· A dividend becomes a liability only when it is declared.  

Preferred stock typically has a fixed dividend rate.  For example, term of “6percent preferred stock, par value $10 per share” means that the stock pays an annual dividend of 6 percent of par.

Dividends 
Dividends are considered a return ON capital to owners (more correctly, a distribution of assets deemed to have been financed by company earnings).  

	TAKEAWAY
DIVIDENDS ARE NOT AN EXPENSE, AND, THEREFORE, DIVIDENDS DO NOT APPEAR ON THE INCOME STATEMENT.  DIVIDENDS ARE SHOWN AS A DIRECT CHARGE TO RETAINED EARNINGS.


This latter point in an important take-away from the course.  Dividends are not expenses.  Dividends affect cash (normally) and stockholders’ equity.  Dividends are treated as a financing activity in the statement of cash flows (see Chapter 12).
Dividends must be declared by a company’s Board of Directors.  Assuming that the Board wants to declare dividends to common shareholders, dividends cannot be declared on common stock until the current dividend preference is declared on preferred stock (and any dividends in arrears on preferred stock).  The term dividends used in the popular press almost certainly refers to cash dividends.
Three important dates relate to dividends 

· Date of declaration, the date the company commits to pay a dividend.  

· A dividend becomes a liability only when it is declared.  

· Date of record, date on which shareholders of record are determined to receive the dividend

· Date of distribution (payment), the date on which the dividend is paid.

Assume that the Cochran Co. has the following capital structure at December 1, 2014:
	Common Stock.  10,000,000 shares of $10 par authorized; 1,000,000 shares issued and outstanding
	10,000,000
	

	Paid-in-capital in excess of par-common
	7,500,000
	

	Preferred Stock.  7%, $60 par, 200,000 shares issued and outstanding
	12,000,000
	

	Paid-in-capital in excess of par-preferred
	2,000,000
	

	Retained Earnings
	40,000,000
	

	     Total Stockholders’ Equity
	
	71,500,000


This information is used in three examples below.  Each example is independent.
Cash Dividends.  Example 1.  
On December 23, 2014 the board of directors declared a total annual dividend of $2,040,000, to be paid to shareholders of record on January 6, 2015, on January 10, 2015.  How will the dividend be allocated between common and preferred?  What is the 2014 journal entry to record the transaction?
	Annual dividend preference to preferred:  7% x $12,000,000 par value (2)
	$840,000

	Remaining dividend to common (1)
	$1,200,000

	Total dividend
	$2,040,000

	(1) $1,200,000 ÷ 1,000,000 shares = $1.20 per share

(2) 7% x $60 par = $4.20 per share, and $4.20 x 200,000 = $840,000


	Retained Earnings
	2,040,000
	

	     Dividends Payable
	
	2,040,000


	Transaction Analysis Review 

· A cash dividend is considered a direct transaction with owners, and is deemed to be a distribution of assets financed by earnings.  Therefore, retained earnings is deceased:  debit retained earnings.
· Dividends payable is a liability account, and it increased: credit dividends payable.   


Note:  if Cochran had entered 2014 with one year’s dividends in arrears on the preferred stock, then $1,680,000 [$840,000 x 2] would have been allocated to preferred (one year’s in arrears, plus current year) and $360,000 to common:  1,680,000 + 360,000 = 2,040,000.
Stock Dividends.  Example 2.   
Sometimes a company wants to retain its cash and decides to declare a stock dividend instead of paying a cash dividend.  In a stock dividend, a company issues its own stock.  Stock dividends are almost always declared on common stock.  We will assume that anytime a stock dividend is discussed it is on common stock.  Stock dividends are almost always used by firms in the growth state in order to conserve cash.  
Declaration of a stock dividend does not create a liability.  A liability is defined as an obligation to distribute assets or incur other liabilities in order to meet an obligation (see text p. G-5, 553).  The obligation in a stock dividend is to issue the company’s own stock.  Thus, it cannot be a liability.  The accounting for a stock dividend transfers amounts from earned capital (retained earnings) to contributed capital (common stock and additional PIC). 
The accounting for the stock dividend depends upon the size of the dividend.  Small stock dividends are accounted for at fair value and large stock dividends are accounted for at par value (see text p. 557).  

· Small stock dividends are those < 20%-25% of outstanding stock

· Large stock dividends are those > 20%-25% of outstanding stock

· In any problems in this course, the dividend will either be < 20% (small) or > 25% (large)

Small Stock Dividend.  For example, take the Cochran’s capital structure shown in the previous example.  To keep the example simple, assume that a 3% stock dividend was declared and distributed (unissued stock was used) on December 28, 2014.  (See an intermediate accounting textbook to review how a stock dividend is recorded on the day of declaration if the date of distribution occurs at a later time.)  The fair value of the common stock on December 28, 2014 is $18 per share.  

The stock dividend would result in the issuance of 30,000 shares of common stock (1,000,000 shares x 3% = 30,000 share dividend).  The journal entry to record the declaration and distribution of the stock dividend is:  

	Retained Earnings (1)
	540,000
	

	     Common stock (2) 
	
	300,000

	     Paid-in-capital in excess of par—common (3) 
	
	240,000


(1) 30,000 shares x $18 fair value = $540,000

(2) 30,000 shares x $10 par value = $300,000

(3) 30,000 shares x ($18 - $10) = $240,000

	Transaction Analysis Review 

· A stock dividend is considered a direct transaction with owners, and is deemed to be a transfer from earned capital to paid-in-capital.  Therefore, retained earnings is deceased:  debit retained earnings.
· Common stock is a stockholders’ equity account, and it increased:  credit common stock (number of shares x par value)

· Paid-in-capital in excess of par—common is a stockholders’ equity account, and it increased:  credit Paid-in-capital in excess of par—common [(fair value of stock distributed less par value) x number of shares] 


Note that in the above entry, neither assets nor liabilities are affected.  The effect of a stock dividend is to transfer amounts from Earned Capital (i.e., retained earnings) to Contributed Capital (i.e., common stock and additional paid-in-capital).  
Large Stock Dividend.  If the dividend had been a large stock dividend of 100%, the following entry would be made (large stock dividends are accounted for at par value).

	Retained Earnings (1)
	10,000,000
	

	     Common stock (2) 
	
	10,000,000


1,000,000 shares x 100% = 1,000,000 shares

(1) 1,000,000 shares x $10 par = $10,000,000

Stock Splits.  Example 3. 
A stock split is not a stock dividend.  A stock split is most often used by companies to reduce its share price to make it more affordable on a per share basis.  In a stock split, the number of shares outstanding increases and the par value of the shares is decreased proportionately so that the total par value outstanding is the same after the split as before.  Usual stock splits are 2:1 and 3:1.  (A reverse stock split would decrease the number of shares outstanding; e.g., 1 to 5).  
Continue with the December 1, 2014 original information for the Cochran Co.  Assume that the Board of Directors declared a 2:1 stock split on December 23, 2014.  No journal entry is needed to record the transaction.  (Some accountants use a Memorandum entry). The capital structure after the split is as follows:  

The capital structure before the split is as follows:

	Common Stock.  10,000,000 shares of $10 par authorized; 1,000,000 shares issued and outstanding
	10,000,000
	

	Paid-in-capital in excess of par-common
	7,500,000
	

	Preferred Stock.  7%, $60 par, 200,000 shares issued and outstanding
	12,000,000
	

	Paid-in-capital in excess of par-preferred
	2,000,000
	

	Retained Earnings
	40,000,000
	

	     Total Stockholders’ Equity
	
	71,500,000


The capital structure after the split is as follows:  

	Common Stock.  20,000,000 shares of $5 par authorized; 2,000,000 shares issued and outstanding
	10,000,000
	

	Paid-in-capital in excess of par-common
	7,500,000
	

	Preferred Stock.  7%, $60 par, 200,000 shares issued and outstanding
	12,000,000
	

	Paid-in-capital in excess of par-preferred
	2,000,000
	

	Retained Earnings
	40,000,000
	

	     Total Stockholders’ Equity
	
	71,500,000


Note that the par value halved, from $10 to $5; the number of shares issued and outstanding doubled from 1,000,000 to 2,000,000; and the total par value outstanding, $10,000,000 is the same before and after the transaction.
The text indicates that in a stock split the number of shares authorized also increases proportionately.  This is not always the case because states must accede to any increase in authorized shares.  For convenience, we will follow the text convention of assuming in a stock split that the number of authorized shares increases proportionately.
Ratios

Two major ratios are introduced in Chapter 11:  Dividend Yield and EPS (earning per share)
Dividend Yield (Dividend Yield Ratio) 
The dividend yield ratio is computed as follows:

	Dividend Yield Ratio
	=
	(Annual) Dividends Per Share

	
	
	(Current) Market Price Per Share


This ratio indicates how much a shareholder would earn in dividends per dollar of market price.  Note: most companies tend to set a standard dividend amount and change the amount relatively infrequently.  Because market price changes over time, dividend yield changes constantly.
Earnings Per Share (EPS) 
The text shows EPS computed as follows:

	Earnings Per Share
	=
	Net Income

	
	
	Average Number of Common Shares Outstanding


This definition is not quite correct, but it shows the basic idea behind the computation.  The text presumes that students will learn more about the computation in other, more advanced accounting and finance courses.

A more specific definition for EPS is:
	Earnings Per Share
	=
	Net Income – Preferred Dividends Declared

	
	
	Average Number of Common Shares Outstanding


This definition indicates that the ratio EPS really reports net income after meeting dividend requirements per average common share.  Note: in annual financial statements, the amount “Basic EPS” is computed this way.  Another number, “Diluted EPS” frequently is reported (see text B-12 and C-4), but its computation is beyond the scope of this class.
Statement of Cash Flows

The items below were discussed in this chapter, and the effect on cash flow from financing activities is as follows.

Operating Activities

Net Income


Stock compensation expense  

Financing Activities

Sale/Issuance of stock
(Purchase of treasury stock)
Reissuance of treasury stock

(Purchase and retirement of stock)

(Payment of dividends)
Note that the inflows and outflows are not to be netted.  The total inflows related to issuance of stock and the total outflows related to repurchase of stock should be shown separately.  

Note that stock dividends and stock splits do not affect cash; so, they are not reported on the statement of cash flows.  Further, as discussed in Chapter 12 they are not “significant non-cash financing and investing activities,” and they do not belong on the separate schedule attached to the statement of cash flows.  Stock dividends and stock splits are reported in the statement of stockholders’ equity.  
The following is a statement of cash flow example.  
	Cash Flow From Operating Activities
	

	Net Income
	

	Adjustments:  
	

	Stock compensation expense
	12,000,000 

	
	

	Net cash flow from operating activities
	

	
	

	Cash Flow From Financing Activities
	

	Issued common stock (1)
	10,000,000 

	Repurchased common stock (1) 
	(22,000,000)

	Purchased treasury stock (2)
	(5,000,000)

	Sold treasury stock (2)
	7,500,000

	Paid dividends
	(1,000,000)

	
	

	Net cash flow from financing activities
	


(1) These amounts may not be netted together.  

(2) These amounts may not be netted together.  

CHAPTER SUMMARY (From Textbook Authors)

This chapter discusses accounting for owners' equity for corporations. Each specific source of owners' equity should be accounted for separately. The two basic sources of owners' equity for a corporation are contributed capital (capital stock) and earned capital (retained earnings). Separate accounts are kept for each element of capital stock.

A corporation may purchase its own stock in the marketplace. Stock previously issued by the corporation and subsequently reacquired is known as treasury stock as long as the issuing corporation holds it. The purchase of treasury stock reduces corporate capital, and the subsequent resale of the treasury stock increases corporate capital.

The earnings of a corporation that are not retained for business expansion are distributed to the stockholders by means of dividends. Dividends are paid only after the board of directors of the corporation declares dividends. A cash dividend results in a decrease in assets (cash) and a commensurate decrease in stockholders' equity (retained earnings). In contrast, a stock dividend does not change assets, liabilities, or total stockholders' equity. A stock dividend results in a transfer of retained earnings to the permanent or contributed capital of the corporation. Therefore, a stock dividend affects only certain account balances within stockholders' equity. A stock split affects only the par value of the stock and the number of shares outstanding; the individual equity account balances are not changed. 

Sole proprietorships and partnerships are discussed in Chapter Supplement A. Except for owners' equity items and details, accounting is basically unaffected by the type of business organization.
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CHAPTER TAKE-AWAYS (From Textbook Authors)
After studying this chapter, you should be able to:

11-1 Explain the role of stock in the capital structure of a corporation. p. 000

11-2 Analyze the earnings per share ratio. p. 000

11-3 Describe the characteristics of common stock and analyze transactions

affecting common stock. p. 000

11-4 Discuss dividends and analyze transactions. p. 000

11-5 Analyze the dividend yield ratio. p. 000

11-6 Discuss the purpose of stock dividends and stock splits, and report

transactions. p. 000

11-7 Describe the characteristics of preferred stock and analyze

transactions affecting preferred stock. p. 000

11-8 Discuss the impact of capital stock transactions on cash flows. 
1.
Explain the role of stock in the capital structure of a corporation. 

The law recognizes corporations as separate legal entities. Owners invest in a corporation and receive capital stock that can be traded on established stock exchanges. Stock provides a number of rights, including the right to receive dividends.

2.  Analyze the earnings per share ratio. 

The earnings per share ratio facilitates the comparison of a company’s earnings over time or with other companies’ at a single point in time. By expressing earnings on a per share basis, differences in the size of companies become less important.

3. 
Describe the characteristics of common stock and analyze transactions affecting common stock.

Common stock is the basic voting stock issued by a corporation. Usually it has a par value, but no-par stock can be issued. Common stock offers some special rights that appeal to certain investors.

A number of key transactions involve capital stock: (1) initial sale of stock, (2) treasury stock transactions, (3) cash dividends, and (4) stock dividends and stock splits. Each is illustrated in this chapter.

4.
Discuss dividends and analyze transactions. 

The return associated with an investment in capital stock comes from two sources: appreciation and dividends. Dividends are recorded as a liability when they are declared by the board of directors (i.e., on the date of declaration). The liability is satisfied when the dividends are paid (i.e., on the date of payment). 

5.
Analyze the dividend yield ratio. 

The dividend yield ratio measures the percentage of return on an investment from dividends. For most companies, the return associated with dividends is very small. 

6.
Discuss the purpose of stock dividends, stock splits, and report transactions.

Stock dividends are pro rata distributions of a company’s stock to existing owners. The transaction involves transferring an additional amount into the common stock account. A stock split also involves the distribution of additional shares to owners but no additional amount is transferred into the common stock account. Instead, the par value of the stock is reduced.

7.
Describe the characteristics of preferred stock and analyze transactions affecting preferred stock. 

Preferred stock provides investors certain advantages including dividend preferences and a preference on asset distributions in the event the corporation is liquidated. 

8.
Discuss the impact of capital stock transactions on cash flows.

Both inflows (e.g., the issuance of capital stock) and outflows (e.g., the purchase of treasury stock) are reported in the Financing Activities section of the statement of cash flows. The payment of dividends is reported as an outflow in this section.

THE FOLLOWING WILL NOT BE TESTED.  IT REPRESENTS THE CURRENT ACCOUNTING MODEL EMPHASIZING INCOME DETERMINATION
Accounting Model

The following depicts the basic accounting model and how changes in net assets affect owners’ equity.
A = L + OE

A - L = OE

∆ (A-L) = ∆OE

	∆ (A-L)
	=
	∆OE
	
	Where Changes in Owners’ Equity Are Reflected in the Balance Sheet
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	Equity (3)
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(1) – (10) are elements of financial statements under U.S. GAAP.  The IASB and FASB in a joint project are revisiting the elements.

(b) Affects retained earnings unless an element of other comprehensive income is affected.  

(c) Amounts that flow into AOCI must eventually flow back out of AOCI, i.e., amount is recycled. IFRS does not recycle some items.  

Critical issues are:

· Recognition:  When is the item included in (recognized) the financial statements as an element

· Derecognition:  When is the item removed from the financial statements 

· Measurement:  At what value is it recorded and reported

Disclosure:  Disclosure emphasized in footnotes.
